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(OTBeT: —;—ln 13 — cos 3x| + C.)

2.4 Sﬂ_
T Yo 37

(omer.- % In |2e* + 3] c.)
2.5. S_Si‘lff_dx.

cos’x—4
(Oreer: —1n |cos?x —4| + C)

26 S e'dx
T )a—3e

(omer: —% In |4 — 3e*| + c.)

2.7 S xdx
B N

(OTBeT.' —%5 In |7 —5x° + C.)

28 ( sin 2x
T ) 3sintx 44

(OTBeT: % In [3sin® x+ 4] + C.)

2.9 S_ﬁ_
o 5+62x

dx.

dx.

(OTBeT: »é— In {5+ ™| 4+ C.)

2.10. S 4y,
74 2x*

(Oréer: u}? In |7 4+ 2¢* + C.)

2.11. S_Q._‘”_—*”’_ x
2¢° — bx 417

(Orser: In |24 —5x 4+ 17] 4 C)

2.12. S ™ dx

ot —5

(OTBeT: % In |2x* — 5| 4+ C.)
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2.13. S_ﬁi"_dx.

/sin 3x — 2
(Orser: l'\/ sin 3x — 2 C.)

2.14, Sv%dx (Orger: —24/1 + cos? x + C)

2.15. Sde
' | +3cosx

w

(Oraer: —% In [I + 3 cos x| +C.)

2.16.S SN 2% .

4 —sin®x

(Orser: —In|4—sin’x| 4 C)

3x

e
2.17. Seaxh5dx.

(OTBBT.‘ -;— In [e** — 5] + C.)

dx.

2.18. 3

7 + 3x°

(OTBeT: —é- In |7 4+ 3x% 4+ C.)

2.19. S 3 .
x4 2%

(OreeT: % In [x*4 2x| + C.)

2.20. S dx.
e 4. 3

(Orser: \e* 434 C)

3x2 41 ] 3 _
2.21. Smdx. (Orser: In |x* +x — 10| 4+ C.)

2.22, S3x dx. (OTBeT 2in 345 — 7|+c)
2.23. S\/—— (OTBET —\/x —|—3—|—C)
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2.24. S Vidx (Orser: \/2x* — 4x + C)

2x% — 4x

2.95. S_..de.

V5 —sin 7x
(OTBeT: —--—3—1/5 —sin 7x + C.)

in 4 1 '
#_de' (Orser: ——-Q—x/cos 4x 4 3 + C.)

2 5 4
——%—:;:—fdx. (Orser: In |4x® 4+ x°| + C)

5
)
2288 4e” —dx. (OTBeT — 41 —e¥*+C)
V=
30 |

ol B

3.1. S‘___Qx_—jfdx.
1 4 x?

2
(OTB(:‘T.' _% ———-;— In |x* 4+ 1| 4 arctg x + C.)

—_— 2 )
3.2. 571 _’; dx. (OTBeT.' 1‘; +x—61In|1 —x| +C.)

3.3. S” fdx.

x

(OTBeT ———|— In Ix —ll—}—]n‘x*ll—l—C)

.3.4.5;*%

(Oreer: %x — x4+ x—1n|2x + 1] —I—C.)

3.5. Sx —2 4

X —4
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(Omer:%x“—f—,Qx?—l—Sln [x* — 4] — lnlx_2|+c)

x4+

3.6. Szx4_3dx.
1

2
(Oreer: ?x‘" — 2x — arctg x + C.)

: X —1
3.7. S T dx.
(OTBBT.‘ %x3—-{13—x2 —|—-é—x-—l% In [2¢+ 1| 4 C.)
38. | Zdx. (Oreer: —fx*—Lin i1 — x| +C.)
3.9. \ *—dx. (Oreer: x— =
S . X ( T8eT: X 3 arctg \/3_+C.)

3.10. Sﬁ" = :12"+‘dx

‘(Omer: x3—|—x2—|—-7ln |2x — 1] —I—C.)

4
X
s dx.

3.11. |

W

(OTBeT ———|—3x—|—2i/_‘ \/—|+c)

3
3.12. S’;;:jxdx. (Orser: L2021+ C.)

3.13. Sf,_gé"_.iﬁdx.
x* 44

('Orser: x -—% In |x?—4| + arctg—;- + C.)

=1
. 3.14. Sx+3dx.

(Orser: £ 3,4 0x—281Inlx+3| + c.)

3.15.

=
316S

x 2

dx. (0rser: nl—xQ—I—% Injx*—1] 4 C,)'

dx. (Ouer: %x"‘ —x 2 arctg x + C.)
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3.17. Sf_:_?i‘,:__ldx
x4 1

(Omer: g ~—3x 4 2 arctg x 4 C.)

3.18. S" +2dx (Oreer ._+4x+9 |n|"—2|+c)

C.O

3
3195 —2ax.
x5 5
(Orse 5 —2x'+25x—128In Ix—|—5|+C)
3.20. S";’
X
(Oree —x? lln | x2 +1|—|—arctgx+C)

3.21. l xdx Oreer ——--x —I—2x——arctgx+C)

3
X —de
X —

3225

(OTBQT Zx* 4242 4-8x+131n lx——2!—|—C)

l
2
3
3.23. S”+5dx (Orser: 2x + 3 arctg x+ C.)

x+2
|

(Oreer i—l— In |x*4+ 2| +——arctg =

2 N

3.25. Sx +xdx (Orser —-%2——3x-—61nlx-—2l+6.)

+C.)

3.26. S
(Orger: x>+ 14x+ 103In|x—7|4C)

3.27. S 2x7 +l3dx.

(Oreer: -g,-x3+x2+2x+5 In[x—1]| +C.)
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3.28. {1 £ dx

24+ 4

. x _ 15 x
(OTBeT. 5 + 4x - o arctg -+ C.)

2 2
3.29. Sx +;dx. (Orser: %+ 3x+131In |x—3| +C.)

2%+ 3
3.30. S Sy dx.

(Orser: x+\/—2_ln ‘://_Ex_l‘ +C.)

2x + 1

4
A.1. S sin? (1 — x)dx. (OTBeT.' 4 &+ 4 sin2(1 —x)+c.)
4.2. | sin® (1 — x)dx.

(Orser: cos (1 —x)—% cos® (1 — x)+ C.)

(OTBET.‘ 3x - 20 cos % — 5 sin %’f + C.)

4.4. { cos® 5x sin 5xdx. (Orser: — o cos* Bx + C.)

20
4.5. { cos® (1 — x)dx.
(Orser: —sin (1 —x) -I—% sin® (1 — x)+ C.)
4.6. { (3 — sin 2x)’dx.
(Orser: 1—29x 4 3 cos 2x —% sin 4x + C.')

4.7. { sin’ —3-;— dx. (Orser: % x — -:5- sin 3x 4+ C.)

4.8. {(cosx+3)%dx. (OTBeT.' lgx +6sinx+ % sin2x + C.)
4.9. { cos’(x + 3)dx. (Orser: sifi (x + 3) — % sin®(x 4+
+3)+ c.) |

66



4.10. S sin3f5“f_ dx. (Orser: — 3 cosH 4 —1532- cos? 3 4

7R 5
+a)
4.11. S(l——cosx)zdx. (Orser: %x—2sinx+
I .
—I—Tsm2x+C.)
4.12.Ssin2(2x——l)dx.(0TBeT:? &S (4x—2)—|—C)

4.13. Ssm 6xdx. (OTBeT ——-G—cos 6x—|— g COS Gx—l—.C.)
1 |
4.14. Ssn 0,5xdx. OTBeT _Q_x—?smx—l-C)

4.15.
+2)+C.)

sin i l)dx (OTBeT %x-—%sin (x 4+
4.16. S cos? 2xdx. (OTBeT: L +—{15— sin 4x 4 C.)
4.17. S(l + 2 cos —) dx. (Orser: 3x 48 sin% +
+ 2 sin x + c.)
4.18. S cos? 3xdx. (Oreer: % X —I—% sin 6x C.)

4.19. S sin' 2xdx. (OTBeT: _g-x — —lg-sin 4x +
+ -l sin8c+C.
64 - | .
4.20. S sin® 3xdx. (Orser. - ¥ — -z sin 6x + C.)
4.21. S (1 — cos 3x)*dx. (Orser: -Zi x— —?;- sin 3x +

+ % sin 6x 4 C.)
4.22. Scos2 2% dx. (Orser /—x+ sin =% + C)

4.23. S sin® 5xdx. (Oreer: ‘ —3 cos 5x —_l—-ﬁ cos® 5x +
+ C.)

aT.
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4.24. | sin* xdx.
- I . -
(OTBeT. <% — 7 sin 2x + 35 Sin 4x + C.)
4.25. { cos* xdx.
(Qmer: is-x+ -‘%- sin 2)({-|— 3l2 sin 4x+ C.)
4.26.
(Oraer:

cos® 4xdx.

. | : 3
sin 4x — -5 Sin 4x+C.)

_f_’ﬁm

>

2 I |
4.27. { cos® 7xdx. (Oreer. & %+ sin 14x 4 C.)
4.28. { (sin x — 5)2dx.
(Omer: %‘-x —% sin 2x 4 10 cos x -+ C.)
4.29. { sin® 4xdx.

( Orger: — % cos 4x +-1-l2— cos® 4x 4 C.

N’

4.30. S sinﬂ.f{. dx. (Omer: .;_ x—tsin3 4 c.)

5

5.1. { tg® xdx. (Oreer: tg x — x4 C.)
5.2. { ctg® (x —6)dx.

(OTBeT: —% ctg®(x — 6) — In |sin (x — 6)| + C.)
5.3. | tg* 3xdx.
(OTBeT: % tg® 3x ——-é- tg 3x+x—|—C.)

5.4. | tg? Txdx. (oTéer: FlgTx—x+C)
5.5. | tg® xdx.
(Orser: % tg* x —% tg? x — In |cos x| + C.)
5.6. | x tg® x%dx. (Orser: % tg £ = % x%+ C.)

5.7. | ctg® xdx.
68.
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(OTBBT.' —% ctg®x —In |sin x| + C.)
5.8. S th-’?} dx. (Oreer: 2tg 5 —x+ C.)
5.9. S tg® £ d.

(OTBeT: tg? % +2 ln]cos -g-l +- C.)
5.10. { tg? 4xdx. (Oreer: '}f tg 4x — x + C.)

5.11. { ctg® xdx.
(Orser: -—% ctg? x — In |sin x| + C.)

5.12. | ctg? 5xdx. (Omer: ——;- ctg 5x —x + C.)
3 X
5.13. S tg® % dx.

(Orser = tg2 2 43 lnlcos _;‘,| + C.)
5.14. 5(1 «-—tg 2x)dx.
(Omer In jcos 2xl +— tg 2x+C. )
5.15. | tg® 2xdx.
(Omer: §tg 2x — —tg 2x——— In |cos 2x] 4 C)
5.16. | (2x 4 tg® 7x)dx.
(Orser: x2+% tg 7x —x 4 C.)
5.17. Stg‘*?.f‘..dx.
(OTBeT -_tg3 - 3tg +x+C)
5.18. { (ig 2x +ctg 2x)2dx.
o 1
(Omer. - tg 2x = ctg 2x 4 C.)

5.19. { (1 — ctg x)’dx.

(Orger: —21In |sin x| —ctg x 4+ C.)
5.20. { ctg® 3xdx.
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( Orser:

5.21.

( Orser:

5.22.

5.23.
(Orser:
5.24.
(Oreer'

5.25.

( Orser:

5.26.
( Orsger:

5.27.

( Orser:

5.28.

( Orser:

5.29.

5.30.

: ( Orger:

—ctg 3x—l In lsm3xl+C)
{ ctg® xdx.
——ctg x+ctgx+x+C.)

S g* % dx. (OTBBT ﬁtg_—x+c)
{ tg* (x—6)dx ‘
%tg3(x—6)—tg(x—6)+x+ C.)

| tg® 4xdx.

—l—tg2 4x—|— L In |cos 4x| +C.)

o't

-;Ttg 4tg—+x+C)
{ tg* (x + 5)dx.

et _tg(x+5)+x+C)

{ tg® (x — 3)dx.
-2-tg2 (x — 3) 4 In Jcos (x — 3)| + c.)
{ tg? (5x 4 1)dx.
S tgGr+ 1) —x c.)
7

Stg’ L dx. (Orser: -;_tgl:- — x4 C.)
{ tg® 4xdx. '

1 4 1
et — o tg? dr+ bx + c.)

6

6.1. S sin 3x cos xdx.

( Orser:

—% cos 4x«—%cos 2x + C.)

6.2. | sin® 2x cos 2xdx. ( Oraser: l ~5 sin® 2x + C. )
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6.3. | sin® 3x cos 3xdx. (Omer: % sin® 3x + C.)

6.4. S cos® 5x sin 5xdx. (Omer: -

20 cos 5x+C)

. X X
6.5. S sin 5 Cos dx.
. 2 3x _ X
(Oreer. 5 €0s— —2cos— + C.)

3
6.6. { cos x sin 9xdx.

.| 1
(Oreer. g €OS 10x -1 €O 8x 4 C.)
6.7. { sin* 2x cos 2xdx.

(Oraer 75 —sin 2x-|—C)
6.8. S sm-z- cos——— dx.
) |
(OTeeT., — - cos 2x+—2-cosx—|—C.)

-
©

. { cos® x sin xdx. (OTeeT: -—% cos® x + C.)

¥ _

i6. SC““‘"COSS xdx
(Oreer. Tlthm 5x—|—-..smx+C)

6.11. S sin 5x sin 7xdx.
(Oreer: 4 sin 2x ——L_sin 12x 4 C)

'db

4 24
6.12. S sin 4x cos 2xdx.

(Oreer: -—-l—'z— cos 6x ~—--l— cos 2x C.)

6.13. | cos® 4x sin 4xdx. (Oreer — — COS 4x+C)

S T
6.14. § cos % 2x sin 2xdx. (Oreer: 4 €087 2x 4 C.)
6.15. |
(Oreer: —-% cos 10x —--l—ﬁ-cos 8x 4 C)
6.16. § sin 4x cos 2xdx.

) I 1
(Omer. — = €08 6x — - cos 2x + C.)

cos x sin 9xdx.

71

29



8.17. { sin 3x cos 2xdx.

(Oreer: _'T!(f cos Sx —-% cos x 4 C.)
6.18. § sin® 7x cos 7xdx. (Orser ?'8- sin* 7x 4 C)
6.19. S ::2" dx. (Oreer ? cos~ x4 C)
6.20. S c:isn?’;ix ( Orser: Bsm 5-+C. )
6.21. { cos 2x cos 5xdx.
‘(Omer' L sin 3% +—— sin 7x 4 C.)

6
6.22. { sin® 2x cos xdx.
4

- 3 4 .5
(OTBe:r ; sin x —- sin” x 4 C.)
Cos x
6.23. S = dr. ( Orger: — L, - +c)
6.24. | sin 2x sin 3xdx.
(Oreer Lsing “+0 sin ox + C)

6.26. \ sin 5x cos xdx.

( Orser: Tl‘g' cos bx — 5 Cos 4x + C.)
6.27. { sin x cos 4xdx

(OTBeT 1 cos 5x +—— cos 3x 4 C)

2
6.25. { sin x cos® xdx. ( Orser: — coi‘x + C.)
§

6.28. { cos 3x cos xdx.
1. P .
(OreeT - sin 2x +-8- sin 4x 4 C.)
6.29. { cos* 2« sin 2xdx. ( Orser: -—--l-'ﬁ- cos® 2x 4 C.)
6.30. { cos 7x cos 5xdx.
1 .
(OTBeT oy sin 2x — 7 sin 12x 4- C.)
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71 S__d_x___.
)P —s5x 44

(Oreer: 2_ arctg 3£ =5 +C.)

7

7.2 S.___dx_
Y —amri10-

Oreer: —_arctg *+2
( Vo T8

16
7.3. S i

2 —Tx 41"

+C.)

(Oreer :1 inI:i::+r|+C)
74. _"_+T—_ (Oreer ._1n| — -|-c)
5x% 4+ 2x 7 ” arctg—5_"—\/—;_'__4—l +C')

. (Oreer: arctg 2x— 1)+ C))
dx
202 — Hx 27

(Oreer: 1 |4x_“—”105i C.)
Vs Vax— 11 4+/10s

7.8. Sﬁm (Oreer ﬁarctg 4:/"]"_5' +C.)
7.9. S 3x2_“;’;x+3 .
(Omer: ﬁwlf_l ':_2+{]+C)

7.10. SW (Oree'r lnl—-_'-_x—w?l +C.)

7.11.§ (OTBeT ln, 3|+C)

x? —5x+6
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dx

1”'&513:53‘

arc

Oreer: — |
( v
7.13. £

~J

14.

~J

15.

dx

dx

31 — 8x —
8—2x-—-
5x——x -6

¥4 4x 42

tgf?ﬂ-+c)

T (Oraer _ln|3x+l '-l—C)

(OTBeT S in‘x_i“—l—C)

(Oreer lnlxm2‘+(3.)

( Oraer:

5

arctg X 12 4+ C.
21 ¢ \/5 )

arctg =

2% — 8x +
dx

322 —9x +

( Orser: —|— C. )

30 ° 11

= (Oreer --lnlx—2,—|—C)

dx o1 25 — 1
7.19 2x2_2x+5.(07'eer. ?arctg 3 +C.)
- an dx fn .1 4, 12¢x—4] , .\
i.av o —ar— UTBeEr, ?.lnl2x+l ’—f—(..)
dx
7.21. P
1 26 — 3 —/7
Oreer I : C
( 27 2x—3+‘\/—7—l+ )
dx 2 4x — 3
71.22 S2x,_,_3x+2 (OTBeT ——;arctg - +C)
72&S_T:E__n
X%+ T+ 11
I 2¢+4 7
Orser: In + C.
( Vs %+7+VF| )
dx
7.24. Sm (OTBeT ln, x_l|+C)

dx

725§ -
5x2 — 10x 4 25 °

74

(Oreer = arctg = —|— C. )
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7.26. S dx

2+ 6x+3
| i
(OTBeT. 2‘35 ln|z:z+vﬁgi+6‘.)
7.27. { _";H. (Oreer: 5 in|<=2|+C.)
7.28. Sl 2x o (Oreer: ——}lnl§§+;|+0.)
7.29. SQx TS (Oreer:'_\/zé_arctg 4:/;%’_3 +C)
7.30. S 3¢ —|-5x+l

(Oreer: Wll“"” ‘ﬁ[-}-c.)

ﬁx+5+\/1?
8
8.1. (—% . (Orser: arcsin *=14 + C.
5‘\/4-{—8}: — x? ( '\/56- )
8.2. S dx |
‘\/3x2—4x-|-l
(OTBeT: le)j-lnlx—_‘;‘T +—\/x2_%x+%|—l—c.)
d o . 4x+3
8.3. S m (Oreer. ---2—arcsm——§— + C.)
8.4. s__d_"__.
Vx4 6x 48
(Orser: In|x+3+~/x*+6x+8| +C)
8.5. L . (Orser: —L_arcsin *=2 4 C.
S'\/2+8x—-2x ( e V2 : 5 )
8.6. gy Orser: —L_arcsin 2 =1 4 C.
S\/3+2x—-2x ( reer 2 y )
8.7 S = (Oraer — arcsin 3x+' -+ C)

Ve—2c—3¢ V5 '
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8.8. S \/le:__ﬁ. (OTBeT: arcsin 2’:}_—5_' —|— C.)
8.9. S dx .
V5x% — 10x + 4
(Omer: —-\}? In,;— | +-\/x2-—2x —I—%I + C.)
8.10. S \/zx:’;—xz..(Omer: arcsin /x;_l —I—C.)
8.11. S I
' '\/4x2—8x+$

(Oreer: -;- ln‘x—— 1 +-\/x2—-2x—|—%| + C.)
8.1 e

o

x—1

. S arE—t (Omer: arcsin Ny + C.)

8.13. R
S Vit — x4

(Omer: -;_Inlx——-é. + xg-—-é-x-i— l,-|— C.)
8.14. S

3

dx (O | . x —2
. T8eT: —— arcsin + C.)
V24 4x — 342 \/3 V1o
dx

15. S .
Vax? + 2x + 4

8

(OTBeT: % ln‘x_—{—-}}- +-\/x2-|——é-x+ l' -+ C.)

8.16. S o

8.17. S

Vo' —8x 4+ 1

(Oraer:ﬁ.ln|x——2+ x"’——4x+~%-|+C.)
8.18.5 dx

Ve —sx 46 |
(Oregr: ln,x-—-.g_ +/x? =55+ 6|'+ C.)

76

L . (Oreer: 1 arcsin = 3 C.)
V3x + 2 — 2x? V2 |
dx
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8.19. S—--—-ff___ (Oreer ! aresin &

'\/Bx — 2x* '\/'2—

8.20. S N
Verr —x+ 3

Orsger: —\'/-_2: lnlx —g;- +Vx2—l x+-§ ‘ + C.)

8.21. S s L3 = (OTBeT ! arcsin 2 t! +C.)
— X — 4iX

— +C.)

Ve V7
8.22. S LS
\/x"’—|—3x— 1
(OTBeT: lnlx +—§— +\/x2+ 3x— 1 | + C.)
d .
8.23. S '\/E:;::—W (Oreer: %arcsm 6:‘/%[ ~|—C.)
8.24. S dx
\/3x2—x+~5
(oraer: S ls =t 47T 5| +c)
8.25. S_\/l jx_x (Oreer arcsin 2’;/‘%1 +C)
8.26. Sm (Oz"eer: arcsin x\‘/"gl +C.)
8.27. S \/;_‘;_"__2 (OTBBT.' arcsin 2243 -|-c.)
: —3x —x .
d
8.28. S ‘\/x"’-}-;x-l-l .
(OTBeT: ln|x-—|——§- -]—-\/x2-|—5x—|—’l |—|— C.)
8.29. S — (OraeT arcsin 2"‘:‘3' —I—C)
d
8.30. S \/F+:x*+l-

(Orser: Infx+ 24+~ x*+4x+ 1] + C.)
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78

9 _
9.1. ‘#d}:. (Oreer: -;—inl2x2—|—3x——4| +
+ I l|4x+3—-\/37 -|-C.)
lax+34/a1

x+6 .
9.2. Smdx. (Orser. -Eln|3x +x4+1 4+

LT arctg el +C.)

Y
2x — 1 _
9.3. Sm (OTBeT 1 n|13x2 — 2x 46|
i
— arctg -+ C.
= 1)

xdx I
4\ —. :—1In|2 5] —
9.4 SZx2+x+5 (Oreer " n|2x2 4 x4 5|

~ ! arctg4x+l+C.)

2+/39 \Be
9.5. S—x—z-fFZEE_-_—z-fdx. (OTBeT.' -é-lnlx2+ic——12| -]—l | \
+iln]*”_;_z'l+c.)

3x—2 3
B\ —— ZIn|bx*—3 2
9.6 SW_&H dx. (OTBeT n|5x2 —3x + 2] —

— “ arctg 10x — +C)

5/31 T

9.7. S—-X—+L-dx. (OTBeT: —;—ln|2x2——-6x—8] +

2x* — 6x— 8
kil

x+ 4 | 2
9.8. Smdx. (Oreer. Tin|2x Tx+ 1] +

23 |4x
\/_ l4x-—7+'\/:l_r

9.9. S_._*‘”‘_‘_.%_dx (Oreer ilnizx —5x 42} +
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+51In (x+5)+ C)

2—x . 2—x _ _
3.30. S In 5T dx. (Orse'r. x1n T 21In |4

— x4+ C.) \

4
4.1. S\/ l—x arccosﬁdx. (O'raer: -g_-\/? — %‘\/;—
— —3—1/(1 — x)* arccos/x + C.)
4.2, S V1 — x arcsin \/;c_dx. (Omer: -:2-3-\/;—
| _%\/F—%V(l — x)® aresin /x + C.)

4.3. S x arctg 2xdx. (Oree'r: xT2 arctg 2x — 'E‘ 4
+ -é- arctg 2x 4 C.)
4.4. S arSINY dx. (Oreer: 2/x + 1 arcsin x +

x4+ 1 ,
441 —x+C)

4.5, ( 2rsinx e (Oreer: 4q/1 —x —
S VIi—x (
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L~ l—xarcsmx+c)
a‘rcsm-"‘\/';dx o

(Orser 2-\[_7—
: VI—_; =2 l—xarcsm-\/_+C)
47, S%{_dx (Omer marctgx— -
—Inlx4++T++] +C)

4.8. S xaresinX gy (Orger: x—A/1 — % arcsin x + C.)

Vier

4.9. Sxarctg xdx. (Oreer —Tarctgx-——-i-
+—arctgx+C)

| ‘4.6.;8

4.10. S P arcctg xdx. ( Oraer: -’f;- arcctg x + -é- +
4 - arcctg x + C)

4.11. S.-’f.-a_rc—“’ﬂidx (OTB@T.‘ C— -% .

'\/l —4x?

SN runy v P
— 3 V1—4x arccos 2x.)

4.12. § arccos 2xdx. (Oree'r arccos 2x —
— Vi—42+C. )

4.13. Sarctgxdx (Oreer xarctg x —
'--_ln(1+x2)+c)

4.14. S a"°°°s‘/ddx (Orser: C — 2{ — .
'\/l—x _ .
— 2~/1 — x arccos /x.)

4.15. Sfﬂ‘ff"—s-’idx (Orger: C—x—+/1 — x* arccos x.)

'\/l—x
4.16. S arccos X dx. (Orger: C — 41 +x—
= vV

f—x

— 9+/T— x arccos x.)

o7.
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4.17. § arcetg 2xdx. ’(Oreer: X arcetg 2x +
+ 4In (1+ 4% + C.)

4.18. S ﬁ\/&i dx. (Orser: \/1.4 x® arcctg x +-
4 x*
+1In[x4++/14x% 3 C)

4.19. { arcsin 2xdx (Oree'r x arcsin 2x +

+ 1/1ﬂ4x —|—C)

" 4.20. SM dx. { Orger: Lx
V1 —4x2 ( ' 2
: — .1_. I —4x® arcsin 2x + C.)

4.21. S SR X dx. (Orser: 24/1 + x arccos x —
V4« -
—4/1—x+C)

4.22, S x* arctg xdx. (Ome’r: -%3- arctg x — % x4

!
+ & In(x? + C.)

vt
S

A
T

7 !- . 2 x
4.23. S x arctg 2xdx. (Ome:r. —- arctg 2x 4 = +

2
+—-arctg 2x+C)
4.24. { arctg (x—|—5)dx (Omer x arctg (x + 5) —
o ' Zln |#? +10x+26|+5arctg( +5)+c.)
4.25. | x? arcctg xdx. (Omer: = arcetg x + —’5_ =
| — MG+ 1+C)
4.26, Sxarctg xdx. (Omer _-arctg x4
-+ —:lz-arctg X —xarctg x - — L n (x* 4- l)—I—C)

4.27. S x? (:0{53 dx. (Oree'r. 3x? sin -5; + 18x (:os3 —
. 0Xx
— 54 sin o + C.)
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4.28. { x arcote® xdx. ( Oroer: 5 areotg® i+

‘; +?arcctg x+xarcctgx+ In(x +1)+C)

4.29. S‘x? sin Oxdx. (O'i‘serr % sin 2x -

x |
) cos2x+—4-cos 2x—EC.)
4.30. S (x% 4 4) e*dx. (Oree'r: —;- (x2 4 4)e** +

| 2% I ox
5 +-§~xe +-Te_ —I—C)

5.1. S x? cos 2xdx. (Omer; -‘f;— sin 2x + %cos 2x —

1.
f-fT51n2x+C.)

2

5.2. S x sin® xdx. (‘O'rser: xT - % sin 2x —

. .
— 5 ¢08 2x + C.)

5.3. stmxcosxdx (Oreer %stx—

— % cos 2x +c )
54. S x*(sin 2x — 3)dx. ( Oreer: 5 sin 2x —

——E—cos2x—|——c032x x+C)
§x2(5m x4 dx. (Omer. 2x sin x — x% cos x 4

+2cos x 4+ - x +C.)
6. { (* +x)e *dx. (Otger: C —(x* +3x+3)e“')
S(x + x)e*dx. (Orser: (x* —x 4+ 1)e* 4+ C))
S(x”—x—l— e *dx. (Orser: C — (x> + x4 2)e™7)
9. { (@ —x 4 1)e*dx. (Oreer: (x**—3x+4)e"+C.)
5.10. chtg'?xdx. (Ome'r: In {sin x| —x ctg x' —

x!

T+C)
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x e’*‘i*df (07‘337' C—h(x” +’2f+2)e°"") ‘
xd (01’867‘ In |sin x| —xctgx 4 C)

sin® x
xdx

5.11. §
.28
snsg

fxt

(Oreer X tg x + In {cos x| 4+ C. )

Co

5.14. xdx (Orser xtgx+ln jcos x| —

—~—+C)
5.15. S(x -[-Q)e""dx (Orser: C—(x2+2x+4)e"")

‘516.Sx sin’ xdx (Omer iﬁ:‘-—-—rsm 2x+ .

| —|—-—cos2x+—sm2x+C)
'5 17. Sx (cos 2x+3)dx, (Orser x° —i——-sm 2x+

+—2-c052x--Tsm2x+C)

5.18. -SA(x.z =+ 2)‘e“dx | (Oreer (x> —2x +4) e + C)
5.19. { (x® + 3)sin xdx. (Oreer: 2xsin x = "

20 1IN hne )

- (x Tl)Lbe-r-b)
5.20. E(x2 3}(:03 xdx (Oreer: (x* —4) sinx4 -
-+ 2x cos x4+ C.)

5.21. S (x? 4 1)e~*dx. (Orser: C—(x*+2x 4 3)e™*)
5.22. { (x* — 1)edx. (Orger: (x — 1Ye* + C))

5.23. szcos xdx. (Orser ’g +-’ff-sin2x-[-"-

+Tcos2x—%sm 2x+C)

5.24. S(x -l—x)sm xdx. (Oteer: (2x+l)smx—- :
— 4+ x—2)cosx+.C)
5.25. S(x +x)cosxdx (Orger: (x* 4+ x— 1)sinx+
—|—(2x+l)cosx+C)
5.26. { («* »if-l)e”dx (Oreer: (x*—2x+3)e*+C.)
5.27. { (& —l)e‘”dx (Oreer: C— (x4 1)%~*)

5.28. stm xdx (Oreer -’-‘;-——sm2x—
: ——c.os2x—'|—'C.)
8
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5.29. { arcsin 9xdx. -;(Qreer.,

x.arcsin 91e+

4+ w/—s—:?+c)

5.30. S X arctg 2xdx. (Oraer —-arctg 2x — |

6.1. § (x + Ne*dx.
{ (x —7) cos 2xdx.

6.5. | (x4 2) cos 3xdx. .

6.7. § (x —4) sin 2xdx.
6.9. S (x + 4) sin 2xdx.

6.11. | (x4 5) sin'xdx.

6.13. | (x + 9) sin xdx.
6.15. | (x + 4) sin 3xdx.

6.17. | (x = 4) cos 2xdx.
6.19. § (x 4 4) cos 3xdx.

6 21. S (x: + 6) cos 4xdx. .-

623

6.25. xsm-—-dx

6.29.

.0 In (e 5)dx.
7.3. { Ke"dx. |
7.5. Sx2e—2”dx
7.7. § x cos 8xdx.
7:9. { arcsin 5xdx.

(x + B cos 7xdx. ‘

f{

i .
6.27, S(x-i— l)sm——dx:

)

(x —|—- 3) sin dx. e

| 7.6. é arctg 3xdx

2. :
- -4- +'E arctg 2x + C.)

s 2 {(x—2)e"dx. .

4§ (x— 1) cos Sxdx.
6 6. | (x —2) cos 4xdx.
6.8. | (x — 3) cos xdx.
6.10. S x sin 3xdx.

© 6.12; [ (x'=5)cos xdx. *

6.14. | (x + 7) sin 2xdx.
6.16. § (x 4 3) sin Sxdx.

| 6 18. S(x--S) sin xdx '_
6:20.7 (x' £ 8) sin 3xdy.

6.22. S.(xl—%ﬁiﬁ}sxa? cfx..%,;.

- 6.24. S (x4 2)_sm = dx .
: 6. 26 g (x +4) cos = dx.i
6 28. S (x + 2) cos dx; |
6.30. S (xtr-.a—-‘.)}-siﬁ‘? dx. ..

7.2. § arctg 2xds..

7:8. arctg 4xdx.
7.10. { (x + 1)e—*dx.
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7.11.
7.13.
7.15.
7.17.
7.19.

7.21.

7.23..
7.25.
7.27.
7.29.

X arctg xdx..
x cos (x+4)dx.

x cos (x 4 3)dx.

xe~ *dx.

x sin (x 4 4) dx.
(x 4+ 3) e~ *dx.
(x*—3) exdx

X COS (x + T)di. |

xe*+dx.

8.1. § értig 2xdx.
8.3. S arcsin 3xdx.

8.5. { arctg 8xdx.
87 {arccin Sedy

e ¥ » J €1 VWOl VAL A

8.9. { x cos (x + 4)dx.

8.11.
8.13.
8.15.

8.17.

‘102

8.19.

8.21.

8.23.

8.25.
8.27.

8.29.

chos(x—?)dx |

f(x— 4)e*dx.
S arctg 7xdx.
S In (x — 7)‘d<rrl

arctg % dx.
arctg % dx.

arcsin 15“'- dx.

arctg 3 dx.

arctg 6xdx.

S

|

S |
Sln(2x + 3)dx.

S

S

22§ |
- 7.14. § x cos {x — 2)dx.
|

- 1.24.

§

|

|

| o
%xsm (x + 7T)dx.

!

{ - 7.26.
|

|

- 8.30.

| x2e™dx.
7.16. | xe**2dx,
7.18. { arcsin 2xdx.
7.20.

arccos xdx.

7.28. § xe~%dy.

- 7.30. { x cos (2 — x)dx.

8.2 X cos Gxd_éc.
8.4. | arccos 2xdx.
8.6. { x sin (x —2)dx.

8.8. | x sin (x 4 3) dx.

8.10. { arccos 7xdx.
8.12. \ x sin (x — 5) dx.
8.14. \ xe %dx.
8.16. | arcsin Sxdx.;
8.18. ) x cos (x + 6) dx.

|

{

{

J
8.20. S In (x + 8)dx.
8.22. S In (x + 12) dx.
8.24. S A (2% — 1) dx.”
8.26. S arccos dx.
8.28. S arfsin —’75 dx.

arccos % dx.

§ x cos (x —4) dx.
71.22. S x cos (x.+9)dx..
}
})
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.. Pewenue 'Tuno6020 8aPUANTS -

Haiitd neonpeneneHibie ;im'erp‘a:ia.'

1. {16 —dx.

R e Rt
85 16 sin® £/ 16 — 16 sin® t 4 cos tdt = 256§ sin’tcos®tdt =
= 64 sin® 2tdt = 32§ (1 — cos 4#)dt =32t —8sin4t+ C =

—32arcsin > — 8 sin 4(arcs§ni4 ) +C= |

4
L e in & _._x__ —_— _ 2 .
-=32arcsin — - (8 Rf16—x*+C. 4
2. {— I
4541
- 1 1
> { i _| T T es
Ve +5x+ 1 dx=_tidt
8.5 ___‘ dt. - S dt -
Iu_"“Ef'_- ‘1"/;2_‘:_51_;_1

“ =—1n|t+%+m]’+“0=

\/(“r 7)) -7 | '
a2y E TR

m‘_‘

1 5
=C—In | Lisq
3. | (x — T)sin 5xdx. |
u=x—7, du=dx,
dv = sin bxdx, v Sy -;— cosdHx!

> S {x — 7)sin 5xdx = (8.6)

B8 _ _’..(x—-7)cos5x+-1_Scos dxdx =
5 V7. 5 ‘
—%(x~7)cos5x+§%sin15x+c. <

t03
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4. { arccos 4xdx.
> S arccos 4xdx =

u = arccos 4x, du = — ddr.

V1 — 1622 '

“ldv=dx, v=x

(B_(T)x arccos 4x + 4S .

Fi-ter

(8.6)

-,\-——-xarcco‘selx‘—, T"\/l —16x2 - C. «

5. {xe*~"dx.

bsxe dx = du._.e""dx U'—e‘_ l o
B.0) ex Se* "dx =xe*~" — """+ C. <
x arctg x dx.
0§ ="
 ju=arctgx, du= dx;
> xarctgxdx ) L+ g)
VE T ldom e TR

. '\/l-t-x

(86) 1 +xParctgx — S dx

Vit+#

j——1

= 1+x arétgx—-—lnlx+\/i+x{+c 4

7. {(2® — 4x + 3)e~ dyx.
’ p{(?—4x+3)e Zdx=
____ U= x*— 4x-4 3, dq =(2x ._‘.'4)4_,‘—‘

Ndv=e"%dx, v=— % e

&8)

WL —tr e +{(x—DeZax=

_|u=x—2, du=dx . .:

duv =e-2x¢x, y= — _;_%e—i2x

€8 _ ..[_i(x"’v:-- 4x 4 3)em 2 — i(x'-'?)e —

In(in(x 4+ 1)In(x 4+ 1)
8. S e dx
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(86)

o %e"?‘ +C. 4
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In{ln(x 4 1))Iin(x + 1) i
)S ‘ FES dxs=

’ ' ) dx
u._.!n(ln(x-l-l)) d”“'(x.l_;)]n(x-l-l) ’[(8.6)

dv = ]"‘é:_'}; Dax, v=1 ln“’(x+lr)

| @ 6),21{_-*_-_1)_ In(in(x 4 1)) — S'I"Il{i-!fl_” dr=

= ___.___"!ﬁ CED In(inx +1)— Lin?(x+ D+ C <
2 . 4 .

po—my

HA3-84
HaiiTh Heoripenenientbie WHTErpaitL,
1
3x2 4 20x + 9 B led Ak
1.1. S(x2+4x+3)(x+5) dx. (Oteer: 6 ln|x+ 3}
~ = Imlrd U 421tk 451+ C)
12dx x
12 S(x—Q)(x’—-?x+3) (Oreger: 3!n[x-—-3l
_AInix—Qi-Lln!,g-L!I (‘)
43x —67 L e
13, | Em e dr (Oreer; 2inix— 11+
+5ln|x——4l-~7lnlx+3%+€)
2x"+813+9x2 7
1.4, S = FeheT dx. (O}'ser x2+5|n}x+3}+
+ln|x+2L+lnlx—-ll+C)
. Bxdx
“ 0 —5in 5
la&(i!"“l‘kﬁx+5)fx+3) (Orser: bt 51+

+ 6'ln |24 31 -—~lnlx+lI+C)
2 — Tx° - 73 —8x v w2 L
1.6.. S(x e Y dx. (Otser:. x —}—x-l-
-L—2Inlx+I}+4lﬂ|x-—-2r+3lnlx-—3l+6)
1.7. S 26" 484 —45x — 61 dx.“(Omer. )é*--,—SInlx—ll +

(x —1) (" + 52 -+ 6)
o : , -+ 5lnle 431 tinlx +21 4 C)
1.8. S 2x‘+l?x +32.t2—7x
(#* + 4x + 3) (x + 5)
—51nlx+5[—|—3lnlx+H—31nlx+3l+C)

dx. (Omer A
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